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| 11. Distinguish between Current account and Capital account. | 3
| 12, (a) Calculate Domestic Income (NDPf) from the data given below : 3
_ S. No. Particulars Amount
i (in ¥ lakh)
m (1) Gross National Product at market price 2,600
_._. (i1) | Consumption of fixed capital 200
i (111) | Goods and Services Tax 20

(iv) | Subsidies v 50

(v) | Net Factor Income from Abroad 50

(vi) | Changes in Stocks 30

(vii) | Unexpected loss of a fixed asset 500
" OR

(b) Define Net Factor Income from Abroad (NFIA) and discuss its

m components. 3

13. “In the 1990s, on the advice of Reserve Bank of India (RBI), the
Government of India took a decision of hypothecation of gold reserves to
different nations.”

In the light of above statement, discuss briefly the role of Central Bank
as Banker, Agent and Adviser to the Government. 4

14. (a) “An economy is operating at under-employment level of income.”
_ What does this situation indicate ? Discuss any one fiscal measure
__ noﬁmnw_mﬁdmmaﬁmgob ‘ A

OR

(b) Elaborate using a hypothetical numerical example, how a given
initial increase in investment affects the level of final income of the
economy. 4

16. Estimate the value of Aggregate Demand (AD) in an imaginary economy : 4
(i)  Autonomous Investment (Ip) = ¥ 100 crore

(ii) Marginal Propensity to Consume (MPS) = 0-2
(iii) Level of Income (Y) = ¥ 4,600 crore

(iv) Autonomous Consumption Expenditure (¢) = ¥ 50 crore
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i Suppose, there are only three firms in a hypothetical
economy, viz. A, B and C. During a given period of time, the
following transactions were under, taken by them :

(D  Firm A sold goods worth ¥ 2,000 to firm B and ¥ 1,200
to Firm C.

(II) Firm B sold goods worth ¥ 1,100 to Firm A and ¥ 3,500
to Firm C.

(III) Firm C sold to households for final consumption,
goods worth ¥ 5,700.

Estimate the value of Net Domestic Product at Market Price
(NDPyp) assuming depreciation to be T 120. 3

(ii) Explain the likely impact of construction of 2000 new schools
providing high-quality education in a nation on Gross

Domestic Product and welfare in an economy. 3
OR _

G) @ Distinguish between Real Gross Domestic Product (GDP)
and Nominal Gross Domestic Product. 3

(ii) As per a news dated April 11, 2023 :

“RElectric Vehicle sales crossed one million mark in FY 2023.”

Analyse its impact on Gross Domestic Product (GDP) and
economic welfare. 3

.,
Note : The following question is for the Visually Impaired Candidates only
in lieu of @. No. 16 (b) (ii).

Explain how, ‘non-monetary transactions’ in an economy act as a
limitation of using GDP as an indicator of welfare.
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Read the following text carefully :

Government provides certain goods and services which cannot be
provided by the market mechanism. Examples of such goods are national

defence, roads, government administration etc. which are referred to as
public goods.

There are two major differences between public and private goods. One,
the benefits of public goods are available to all and are not only restricted
to one particular consumer. For example, if a person wears a shirt, it will
not be available to others. It is said that this person’s consumption stands
in rival relationship to the consumption of others. However, if we
consider a public park or measures to reduce air pollution, the benefits
will be available to all. One person’s consumption of a good does not
reduce the amount available for consumption for others and so several

people can enjoy the benefits, that is, the consumption of many people is
not ‘rivalrous’.

Two, in case of private goods, anyone who does not pay for the goods can
be excluded from enjoying its benefits. If you do not buy a ticket, you will
not be allowed to watch a movie at a local cinema hall. However, in case
of public goods, there is no feasible way of excluding anyone from
enjoying the benefits of the good. That is why public goods are called
non-excludable. Even if some users do not pay, it is difficult and
sometimes impossible to collect fees for the public good. These non-paying
users are known as ‘free-riders’. Consumers will not voluntarily pay for
what they can get for free and for which there is no exclusive title to the
property being enjoyed. The link between the producer and consumer
which occurs through the payment process is broken and the government
must step in to provide for such goods.

On the basis of the given text and common understanding, answer the
following questions :

(a) Describe how the Government’s role in providing public goods
impacts community welfare.

(b) Define free-riders. Explain the challenges posed by the free-riders
in the context of public goods.

3
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28. (a) “During the British rule, contribution of industrial sector to the
Gross Domestic Product (GDP) remained very low.”

Justify the given statement with valid arguments in support of
your answer. 3

OR

(b) “The real motive behind infrastructural development under the
British rule was not to provide basic amenities to the people of
India but to subserve various colonial interests.”

Do you agree with the given statement ? Give valid reasons in
support of your answer. 3

29. On the basis of the given image, explain the source of human capital
formation which may contribute to the economic growth in India. 3

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 29.

Explain ‘Investment in Education’ as a source of human capital
formation.

80. “It is necessary to generate more employment in the-formal sector rather
than in the informal sector.”

Justify the given statement with valid arguments. 4
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